Homework 6-6: Complete your assignment on a separate sheet of paper. Show all work.
1. Let 𝑓(𝑥)=𝑥−2 and 𝑔(𝑥)= 𝑥2−3𝑥+2. Find each of the following and state the domain.
a. Find 𝑓+𝑔
b. Find 𝑓−𝑔
c. Find 𝑓∙𝑔
d. Find 𝑓/𝑔
e. Find 𝑓∘𝑔
f. Find 𝑔∘𝑓

2. A car dealer offers a 15% discount of the list price x of any car on the lot. At the same time, the manufacturer offers a $1000 rebate for each purchase of a car.

a. Write a function f(x) to represent the price after discount.
b. Write a function g(x) to represent the price after the $1000 rebate.
c. Suppose the list price of a car is $18,000. Use a composite function to find the price of the car if the discount is applied before the rebate.
d. Suppose the list price of a car is $18,000. Use a composite function to find the price of the car if the discount is applied after the rebate.
e. Reasoning Between parts (c) and (d), will the dealer want to apply the discount before or after the rebate? Why?

Homework 6-7: Complete your assignment on a separate sheet of paper. Show all work.
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Homework 6-8: Complete your assignment on a separate sheet of paper. Show all work.
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1. Find theinverse of each function. Is the inverse a function? Graph and state the domain and range of
each function andits” inverse
a y ; b y=xi+d o y=(x-4p

2. The formulafor the area of acirdleis 4=77°.

a. Find the inverse of the formula. Is the inverse a fanction?
b. Usetheinverseto find theradius of a cirdle thathas anarea of 82 in 2
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1. Graph each finction.
a. y=Jx+3 b, y=x—4 € y=-2x=1

2. Solve each square root equation by graphing. Round the answer to the nearest hundredh, if
‘necessary. Ifthereis no solution, explain why.

a fx=2=7 b, fAx1=5 c.3fB-x=10

3. Aperiscope ona submarine s at a height h, in feet, above the surface of the water. The greatest
[k

distanced, in miles, that can be seen from the periscope ona clear day is gvenby d=, | -

a. Ifaship is 3 miles from the submarine, at what height above the water would the submarine
havetoraise its periscope in orderto see the ship?

b. If a ship is 1.5 miles from the submarine, to what height would it have to be raised?




